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KM3NET 2014 
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DAMPE Proton spectrum 

DAMPE (2019)

Where does this 
come from ? 

Dark Matter? 
Local source? 

Special source?  
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KNEE=3 PeV

‘DAMPE’ bump, was not 
expected from SNRs.   

Can it be a signature of 
something?  

(Special SNRs, reacceleration, 
etc.)

Supernova remnants



DAMPE bump with SNRs?

1. Very simple analytical 
description of SNRs

2. Very simple Galactic 
transport
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Galactic disk
z = 0
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SNRs injecting particles

Trapped

Escaping
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1. Maximum energy? New mechanism?  
2. Knee, really? 
3. Reacceleration?  
4. Other sources? (Massive stars?)  
5.

Simple bump -> Strong 
implications in the CR world

Let’s talk about it.. 


